
 

  
 
 

PART No. SET1 
 

Set Screws M5x20 
 

Quantity: 20 
 

Assorted Box No: AT12 

 
 
 
 
 
 

PART No. SET18 
 

Set Screws M10x40 
 

Quantity: 10 
 

 
 
 

PART No. SET5 
 

Set Screws M6x20 
 

Quantity: 20 
 

 
 
 

PART No. SET14 
 

Set Screws M8x40 
 

Quantity: 18 
 

 
 
 

PART No. SET6 
 

Set Screws M6x25 
 

Quantity: 30 
 

 
 
 
 
 
 
 

PART No. SET12 
 

Set Screws M8x25 
 

Quantity: 32 
 

 
 
 

PART No. SET7 
 

Set Screws M6x40 
 

Quantity: 20 
 

Customer: Beal (UK) Ltd. 

  

Setscrews Metric BZP (M5 – M10) 

Front Label 

Content: 150 

Box Colour: CLEAR 
 


